Science 10 Reaction Review Worksheet
For each of the following:
A. ldentify the type of Reaction B. Write skeleton equations C. Balance the skeletal equations

1. potassium chlorate — oxygen + potassium chloride
Type of reaction: __decompostion

K* ClOst — 02 + K¥cCI¥
KCIO3 - O + KCI (skeletal)
2 KCIO3 — 302 + 2 KCI (balanced)

2. Silver nitrate + copper — copper (II) nitrate + silver
Type of reaction: __single replacement

Agt*NOst —  Cu**NOst  + Ag
AgNO3 —  Cu(NOz)2  + Ag (skeletal)
2 AgNOs —  Cu(NO3)2  +2 Ag (balanced)

3. Propane (CsHg) + oxygen — carbon dioxide + water
Type of reaction: __complete combustion

CsHs + O2 — CO2 + HxO(skeletal)
CHg + 502 — 3CO2 + 4H>O(skeletal)

4. Tron (III) chloride + sodium hydroxide —  iron (III) hydroxide + sodium chloride
Type of reaction: __double replacement
Fe¥*CI* + Na*OH — Fe**OH + Na'* CI
FeCls + NaOH — Fe(OH)3 + NaCl (skeletal)
FeCls + 3 NaOH — Fe(OH)s3 + 3 NaCl

5. Potassium + water — hydrogen + potassium hydroxide
Type of reaction: __single replacement

K + HO — Hz + KYOH"
K +H20 — Hz +KOH (skeletal)
2K +2HO0 — H» +2KOH

6. sulfurtrioxide + water —  sulfuric acid (H2SO4)
Type of reaction: _synthesis
SO; + HO0 — HSO4 (skeletal and balanced)

7. iron + oxygen — iron (III) oxide
Type of reaction: _synthesis

Fe + O — Fe*0O%
Fe + 02 — Fex0z(skeletal)
2Fe +302 — 2 Fey03 (balanced)

8. ethanol (C2HsOH) + oxygen — carbon dioxide + water vapour
Type of reaction: _combustion
CoHsOH + O, — CO2 + H2O (skeletal)
CoHsOH + 30, — 2CO; + 3H0




